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Review of

Functions
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Relation - A set of ordered pairs. ZCZ\%) (4,S) g

Function - A relation in which each x-value (input) corresponds to exactly one y-value (output)
Means: No repeated x values. [ 2, \77) (}{KO

All functions are relations but not all relations are functions.

Function - The input value x is your student ID number and the output value y is the number of pets you

have. (X,

Relation - The input value x is the letter grade on the last unit test and the output value y is the ID
number of each student enralled inthe course. (90, v (70, v )

Graphically - Vertical line test - A relation is a function if a vertical line does not intersect the g&hin
more than one point. u>{§>4
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5. Giv e set of points: {(1, 2), (3, 4), (B, 6)} state another point so that
the/relation @onger a function. (1>L
(3,5)

(s
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Function Notation< f(x) ¢ read “f of x“, where x is
the input value (domain) and@is the output value

(cange)  So)=y- o)

ie: f(2) = 4 would correspond to the point (2, 4).
Whenx =2,y = 4.

—
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Evaluate each of the following: (

1 h(t) = [t + 2| + 3, find h(-3) -1 O

N S
2.9(a) = 33‘1 Zifmd g(1)
gay= =20 = =3
(13)
m A
(3)f(x) = -2x" + 4, find f(4) pees
S@)y=24) +Y

=— (L) atO/B: 25 =%
T =25
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4. g(x)=4x- 2, find g(2a)
g[(«lﬂ) =4(2a) =, =%

o) T2 30 é‘;
5. f(x)=x° -2x fln

Sny=(n ¥
F(n) -

h(x) = v2x—3 , find h(n + 4)
}\< ,\—\—LO: \’ 2(/\1‘()".5

= DJ\‘\"S

4

Q\"‘\ _n ‘N :r\

Jan 3-2:28 PM




U6D1 per8-9 Review of Functions.notebook November 21, 2019

7. Givg\n TS\e graph, f(x), at right, find each of the following:
v) =

C
o FD= = () Y

b. f(0)=__ 5 ;\ ‘ [

O /\
. f@=_0 / \/ N
)x

d. f#y=_> 7
e. f(6)=_|
f. f7=_>
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